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Unit 2 — Addition and Subtraction

(1) Subtract ones or tens

Textbook
Task 1, p. 48
1. (a) 4 (d) 40
(b) 5 (e) 50
(c) 35 (f) 350

Teaching Activities

Write the expression 15 — 7. Ask your
student to find the answer. Discuss different
methods for finding the answer.

= Subtract from ten.

= Subtract 5 from 15, then 2 more.

= “Count up” from 7 first to 10, then to 15.
= Remember the math fact 15-7 = 8.

15-7=5+3=8
A
510

Write the expression 40 — 7. Ask your
student to find the answer. You can illustrate
it with place-value discs by giving him 4 ten
discs and asking him to subtract 7. He will
need to subtract 7 from one of the tens.

40-7=30+3=33
N
30 10

Write the expression 45 — 7 and discuss

45-7=33+5=38

methods for finding the answer mentally, N
using place-value discs if needed. 540
45-7=35+3=38
= Subtract 7 from 40, as before. There N
are still 5 more ones. 3510
= Subtract 7 from 10. ‘R_7= 30+8=38
= Remember that 15-7 = 8. 30 15
Similarly, discuss the problem 645 — 7. 645 -7 =638
Subtracting 7 does not affect the hundreds, JA
so we essentially have to just find 45 - 7. 600 45
Now write the problem 400 — 70. We can | 400-70 =300 + 30
solve this problem in the same way as 40—7 JA =330
by thinking of it as 40 tens — 7 tens. You can (300 100
illustrate this with place-value discs, this
time giving your student 4 hundreds.
Write the expression 450 — 70. 45 tens — | 450 —70 = 380
7 tens can be solved by finding the answer
to45-7.
Finally, write the expression 451 - 70. We | 451 -70 =381

can simply find 450 — 70, then add the ones.

Have your student do Task 1, p. 48, in the order (a), (d), (b), (e),

(c), (f).
Reinforcement
Mental Math 14-15



